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Part 1: Single-choice questions (40 %, 2 % per question)
1 Which of the following statements is correct?
(A) A new public equity issue from a company with public equity previously outstanding is
called an initial public offering (IPO)
(B) Underwriters get compensated for their services in issuing new securities in the form of
spread.
(C) Generally initial public offerings (IPOs) are overpriced [in the short term].
(D) An equity issue sold to the firm's existing stockholders is called a general cash offer.
2 Generally, managers of corporations prefer internally generated cash to finance their capltal
expenditures because:
I) They can avoid the discipline of the financial markets
IT) The costs of issuing new securities are high
IIT) The announcement of new equity issue is usually bad news for investors
(A) I only
(B)II only
(C) I and III only
(D)1, II, and III
3 The following are agency problems associated with capital budgeting except:
I) increase firm’s value
IT) perks or private benefits
IIT) empire building
IV) entrenching investments
V) avoiding risks
(A)L, I and V only
(B) I, IIT and IV only
(O ILIIIV and V only
(D)L IL, III, IV and V
4 Which of the following statements is FALSE?
(A) The Law of One Price implies that leverage will not affect the total value of the firm under
perfect capital market conditions.
(B) In the absence of taxes or other transaction costs, the total cash flow paid out to all of a
firm's security holders is equal to the total cash flow generated by the firm's assets.
(C) If securities are fairly priced, then buying or selling securities has an NPV of zero and,
therefore, should not change the value of a firm.
(D) An investor who would like more leverage than the firm has chosen can lend and add
leverage to his or her own portfolio.
5 A bond has a face value that exceeds its market price. Which of the following features currently
apply to this bond?
I. discounted price
II. premium price
III. yield-to-maturity that exceeds the coupon rate
IV. yield-to-maturity that is less than the coupon rate
(A)IIonly
(B) I and III only
(C)Iand IV only
(D) II and I1I only _
2O T HAl EF 25 2 £
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6 The internal rate of return:

(A) may produce multiple rates of return when cash flows are conventional.
(B) is best used when comparing mutually exclusive projects.
(C) is usually used in the business world today.
(D) is principally used to evaluate small dollar projects.
7 Consider the price paths of the following stocks over a six-month period:
Stock January  |February |[March | April | May | June
1 $25 $25 $21 $26 $22 $24
2 $22 $23 $16 $14 $16 $10
3 $32 $22 $23 $30 $35 $20
4 $16 $15 $16 $18 $22 $28
Suppose that none of these stocks pay dividends and assume that John are an investor with the
disposition effect and John bought each of these stocks in March. Suppose that it is currently
the end of June, which stocks are John most inclined to sell?
(A)1 only
(B)1 and 3 only
(C) 2 only
(D) 1 and 4 only
8 Which one of the following statements is correct in relation to independent projects?
(2) The internal rate of return cannot be used to determine the acceptability of a project that has
financing type cash flows.
(b) The net present value profile is upsloping for projects with both investing and financing type
cash flows.
(c) A project with financing type cash flows is acceptable if its required return exceeds the
internal rate of return.
(d) A project with investing type cash flows is acceptable if its internal rate of return exceeds
the required return.
(e) Projects with financing type cash flows are acceptable only when the internal rate of return is
negative.
(A) (a), (b), and (c) only
(B) (b), and (c) only
(C) (c), and (d) only
(D) (b), (c), and (e) only
9 All else constant, which one of the following will increase a firm's cost of equity if the firm
computes that cost using the security market line approach? Assume the firm currently pays an
annual dividend of $2 a share and has a beta of 1.5.
(A) a reduction in the dividend amount
(B) an increase in the dividend amount
(C) an increase in the risk-free raie
(D) an increase in market risk premium
10 | Which of the following statements is correct?
(A) The weighted average cost of capital for a firm is the rate of return a firm must earn on its
existing assets to maintain the current value of its stock.
(B) The capital structure weights used in computing the weighted average cost of capital remain
constant over time unless the firm issues new securities.
(C) The aftertax cost of debt has a greater effect on a firm's cost of capital when the debt-equity
ratio decreases.
(D) The cost of preferred stock is computed the same as the return on an annuity.
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11 | A corporate bond has a yield of 8% per year. Maturity: 10 years. Its expected rate of return per
year=? (A) 0<E(r) <8% (B) E(r)=8% (C)10%>E(r) > 8% (D)E(r) > 10%
12 | Assuming underlying assets of the following are the same. Long a futures contract (No deposit

is required) is the same as :
(A) long call + long put (B) long call + short put (C) short call+ short put (D) short call + long

| put (E) covered call+ protective put. (Select the most appropriate answer).

13 | F#47#% 3 JE Black-Scholes # % ff & & 4o 64 42 3 :

AaRABRFR OGREIRBIRHELEH (O 28 &KE D)2H B SFELRE E)M
EHBIE 0E

14 | You have a long (= buying) position in stock Y. If you have an information indicating that price
of Y will not change much in the future, you shouldtakea _ position:

(A) covered call (B) protective put (C) time spread (D) money spread (E) long call .

15 | (3&4 L —%8) After you take your position as above, when would you earn a positive

.| abnormal return ?
(A) when option price reflects your information (B) when option price does not reflect your
information (C) You always earn a positive abnormal return because options can reduce risk.

16 | 8 YORARSS0, £ 5 mE 10 $%, BF EPS=SOKFETREZELTSI0 EuBEF R
X (IRR=10%~ ZA KB ELRELHEN), R RERKMB £ (required rate of
return) % 8%, Ei L RET AR

(A) Smaller than 18,000 (B) Between 18,000 and 18,999 (C)Between 19,000 and
19,999 (D)20,000 (E)Larger than 20,000.

17 |(#E L —: WwREFEX Y NPV RI{ELIEE » 3 E & £ ¢ abnormal rate of

return=
(A) Smaller than 0 (B) 0 (C) Between 0.01 and 0.2% (D) Between 0.21% and 0.4%

(E) Larger than 0.4%

18 | 4 RMAFA 0 Rl ex-dividend day &9 % & B 81 £ (= (& RK BB +AEA])+0E KA A21E-1)
HEBRERBFEANEZMNEZF L)

(A)=0 BYX#» 0 (C)#0

19 | Under the risk-neutral method (J&f& P 3z.7%) to evaluate options, investors in the financial

markets are actually

(A) risk averse (B) risk neutral (C) risk seeking.

20 | OnJanuary. 1, & & USD: JPY=1:100, USD — 4§ Rf= 5%. JPY — 58§ Rf=1%. — 4%
USD:JPY=1: 100e X » 4u 2K % L 754 momentum effect of USD in this case > 8] X
(A)=1.05/1.01 (B) =1.01/1.05 (C) k. # 1.05/1.01 (D)/}»#* 1.05/1.01 (E) A 1.01/1.05 (GE

Part 2: Questions (60 %)

1.
(1)What is perfectly efficient market?(3 4)

(2)What pattern of day-to-day change do you look in the historical prices of stock market in a perfectly
efficient market? (3 %%)

(3)If the market were perfectly efficient, would it have been possible for Warren Buffett to earn an
average annual return of 22.2% between 1965 and 2003, beating the S&P 500 by 11.8% per year?
(Source: Berkshire Hathaway 2003 Annual Report, Chairman’s Letter to shareholders, p.2.)(4 %)

ElPR=e oy




B P RS 107 & FEALBE LT HER ELBRA

FB L MHAE [ agEtERa) FAEE © 443002
MEFBRMERZE TARTR EATERGLEAR) H4HAELR
2

Please define corporate governance and explain why it is used to monitor and control top-level managers'
decisions? (5 %)

3.
What is Yield Curve? What is the impact of Trump’s tax cut on Yield Curve? (Please explain your

answer.) (5 %)

4,
The following table gives the annual returns each year for the whole stock market and treasury bills form

2010 to 2017 and supposes that the yield of treasury bills will be 2% in 2018.

Year Stock Market Returns Treasury Bills Yields
2010 11% 7%
2011 16% 10%
2012 20% 9%
2013 12% 4%
2014 -6% 2%
2015 -8% 3%
2016 6% 4%
2017 8% 3%
2018 ? 2%

What is the rational expected return of stock market for 2018 ? (5 %)

5.
Suppose we can sell 3,000 meals of fried chicken per year at a price of $5 per meal. It cost us about $3

per meal. Fixed costs for the project, including such things as rent on the production facility, will run
$1,000 per year. Furthermore, we will need to invest a total of $10,000 in manufacturing equipment. For
simplicity, we will assume that the cost will be depreciated straight-line to zero over the five year life of]
the project. The interest expense per year is $500 and the project require an initial $2,000 investment in
net working capital. Finally, the tax rate is 20%. What is the NPV for the project? (We require a 10%
percent return on the project.)(3# AR KHEHR LR NPV #HEF X RERMGR R ELI( G

)

6. (15 %) Stock index now: So= 8000. Risk-free rate (Rf) = 3% a year. Cash dividend
yield=1%. Multiplier(F $#) = 2. Deposit(4% # 4)=10% of contract value. Your deposit
earns Rf. Your own capital=$8,000. You buy 2 contracts of index futures. You save the
remaining fund at government bond (earning Rf). After one year, stock index= St. — %
%o REFAARM  FEHR—F4% 8 cashflow. HFEARABIHFASER.

7. (15 %) Jaf7 42 % # L (empirically) #| & 4 4 (mergers and acquisitions) &% £ E. 44
synergy ? sF B i 3MEREGELT R ERARYBIRE  FTRAEHEAN - RAFHHXF

(BAZIEMI AN RIRE1-23)
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Q1: Please find the indefinite integral: (10 points)
=
I+e
Q2: Please evaluate the integral over the region: (10 points)

j: j;\/f +1 dxdy

Q3: Determine the convergence or divergence of the given series:

(a)i%; . (5 points)

n=1

® 32

© w0 B2
Q4: Evaluate the integral: (10 points)
f sin® 4x cos 4xdx
QS: Find the general solution to the first-order linear differential equation: (10 points)
¥ +2y=sinx
1Q6: Given y=dy/dt, please derive the general solution of the following equation: (10 points)
y=y(a-by) _
Q7: Please find the general solution of the equation: (10 points)
$—2y—3y=9¢
Q8: Consider the following Cobb-Douglas production function Q=4K>*L 4,
(a) Please compute all third order partial derivatives of the production function Q (5 points)

: (5 points)

(b) Suppose that the inputs K and L vary with time t and the interest rate r, via the expressions
10t?

K= ,and L(t,r) = 6t>+250r, Please calculate the rate of change of output Q with respect

to t when t=10 and =0.1. (5 points)
Q9: In what direction should one move from the point ( 2, 3) to increase 4x%y most rapidly? Present

your answer as a vector of length 1. (10 points)
Q10: For the following functions defined on R3, find the critical points and classify them as local max,

local min, saddle point, or “can’t tell”. (10 points)
X +6xy+y*~3yz+422-10x-5y-21z

HAMAEHRT
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Suppose a country’s growth rate of work force in the future will fall due to the lower birth rate. By
the Neoclassical growth theory, at the new steady state the country’s income per worker will be
higher, that is, living standard is enhanced with lower growth rate of work force. By the Neoclassical
growth theory this interesting inference is due to

A) higher capital/labor ratio

B) higher growth rate of capital

C) higher rate of economic growth

D) higher rate of saving out of income

According to the permanent income hypothesis,

A) consumption responds only to changes in current income

B) consumption responds more to expected changes in next-year income than to current income

C) consumption responds less to temporary changes in income than to permanent changes

D) consumption responds less to permanent income than to current income

Taiwan has net foreign assets, which produce earnings. Where do these earnings show in the balance
of payment statistics?

A) the earnings are included in the current account S N3
ER N EY A

B) the earnings are included in the trade account

|26 7 = Bz
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C) the earnings are included in the capital account
D) the earnings are included in the service account .

9. A country has the following statistics. The number of people actively seeking job is 200, the number
of people able to work but giving up finding jobs is 50, the number of people working part time is 70,
the number of people working full-time is 500, and the number of people working overseas is 20.
Which of the following is a correct statement in the country’s official employment report?
A) the number of labor force is 770
B) the number of labor force is 790
C) the number of labor force is 820
D) the number of labor force is 840
E) the number of labor force is 720

10. Suppose sales of goods shift from ordmary stores to the internet, what will happen?
A) money multiplier rises
B) money multiplier falls
C) money multiplier remains the same
D) money demand rises

11. In the simple Keynesian model, consumption is composed of autonomous consumption and induced
consumption. Wealth is known to affect autonomous consumption positively. With a crash of stock
price, by the simple Keynesian model we expect the average propensity to save will
A)rise
B) fall
C) be uncertain
D) be unrelated to stock price

12. Alen receives a transfer payment of $5,000 from the government. Out of the money received he treats
friends in a restaurant for $3,000 and deposits $2,000 in a bank, Amy borrowed 1,000 from the bank
to buy imported makeup. By the expenditure approach
A) C=§6,000
B) C = $4,000
C) C=$3,000
D) GDP = $4,000

13. Suppose a formerly closed economy (IS-LM) now becomes open (IS-LM-BP). What will happen to
the effectiveness of the monetary and fiscal policy in affecting GDP under flexible exchange rate
with free capital flow?
A) fiscal policy less effective and monetary policy more effective
B) fiscal policy more effective and monetary policy less effective
C) both fiscal policy and monetary policy more effective
D) both fiscal policy and monetary policy less effective

14. Some people argue that if wages are raised the increased consumption can make the economy grow.
Suppose higher wage floors increase autonomous consumption. If the government requires all
businesses to raise wages and then stick to that level, which of the following is true by a typical
flexible-price and sticky-wage AS-AD model?
A) price will rise
B) output will rise
C) unemployment will rise
D) induced consumption will rise

15. Given the following Keynesian model: ¥ =Cy+c(Y -T)+ 1+ G+ X, — (M, +mY), where Tisa
lump-sum tax. If G, T, and Mo all increase by the same amount, which of the following is correct?
A) multiplier equals 1
B) trade balance improves
C) multiplier equals —c/(1-c)
D) multiplier equals c/(1-c)
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E) multiplier equals 1/(1-c) .
16. Which of the following is not counted as a country’s GDP?
A) the salary earned by an employee in the local branch of a foreign bank
B) the salary earned by a foreign employee in a local company
C) salary paid to teachers
D) pensions received by aged people
17. Which in the following may increase the real money demand?
A) reduced real GDP
B) increased nominal GDP
C) reduction in expected inflation
D) increase in price
E) increase in interest rates : .
18. Investment may increase with economic growth. If this aspect is added to the simple Keynesian
model, then the government spending multiplier should be
A) bigger than the simple Keynesian model
B) smaller than the simple Keynesian model
C) the same as the simple Keynesian model
D) unable to tell
19. In a market subject to a price ceiling, there:
A) Will be excess demand;
B) May be excess demand, depending on the circumstances;
C) Will be excess supply;
D) May be excess supply, depending on the circumstances.
20. The deadweight loss due to a price ceiling will be larger if
A) The demand is more elastic and supply more elastic;
B) The demand is more elastic and supply more inelastic;
C) . The demand is more inelastic and supply more elastic;
D) The demand is more inelastic and supply more inelastic.
21. A minimum wage set at above the equilibrium wage for unskilled labor would
A) Reduce employment;
B) Encourage employers to automate;
C) Encourage employers to substitute skilled for unskilled labor;
D) All of the above.
22. The price elasticities of demand and supply determine
A) Incidence on buyers and sellers of a price ceiling;
B) Deadweight losses caused by a price floor;
C) Incidence on buyers and sellers of a price floor;
D) All of the above.
23. An industry where businesses have scale economies tends to be
A) Fragmented;
B) Concentrated,;
C) Highly competitive;
D) Specialized.
24. A cartel will be less effective under the following condition:
A) Few members;
B) Little excess capacity;
C) Insignificant sunk costs;
D) Low entry and exit barriers.
25. If a monopoly experiences an increase in fixed cost,
A) The profit-maximizing price will change;
B) The marginal revenue curve will also shift;

-
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C) The marginal cost curve will remain unchanged;
D) None of the above.
26. If the marginal cost of the separate products is high, a seller should consider bundling
instead of bundling.
A) Direct; indirect;
B) Indirect; direct;
C) Pure; mixed,;
D) Mixed; pure.
27. With direct segment discrimination based on location, the difference between the prices of a product
at different locations will be .
A) Lower than the difference in freight costs;
B) Equal to the difference in {reight costs;
C) Higher than the difference in freight costs;
D) Unrelated to the difference in freight costs.
78 1f the source and recipient of an externality merge into one entity, the externality will be resolved.
A) True;
B) False;
C) True for negative externality only;
D) True for positive externality only.
29. Ali is borrowing money from Jupiter Bank to buy a house. Ali has better information about his future
earnings. Which of the following statements is true?
A) The bank has imperfect information about Ali’s future earnings;
B) The bank bears risk with respect to Ali’s future earnings;
C) There is asymmetric information between Ali and the bank;
D) All of the above are true.
30. Moodys, Standard and Poors, and Fitch/IBCA resolve asymmetric information through
A) Appraisal;
B) Screening;
C) Signaling;
D) None of the above.
31. Screening is an initiative of the , while signaling is an initiative of the to
resolve asymmetric information.
A) Less-informed, better-informed;
B) Less-informed, less-informed;
C) Better-informed, less-informed;
D) Better-informed, better-informed.
32. Marginal cost pricing ensures , but the provider may not
A) Economic efficiency; break even;
B) Break even; achieve economic efficiency;
C) Maximum profit; minimize cost;
D) Minimum cost; maximize profit.
33. If the law does not require ship owners to pay compensation for oil spills,
A) Ship owners will ignore marginal costs on fishermen;
B) Ships will discharge oil above the economically efficient level;
C) There will be a negative externality;
D) All of the above.
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1.

Let’s consider a problem of finding a cost-minimizing way in order to produce a given level of
output. If a firm has a production function y=XXa and the minimum cost of production at
w=w,=2 is equal to 4. What is the output y? (5 points)

A firm has two plants with cost function cl(y1)=2y12 and cx(y2)= y,>. What is the cost function for

the firm? (5 points)

The production function is f(x)=20x— x* and the price of output is normalized to 1. Let w be
the price of the x input and x>0. For what values of w will the optimal x be 10? (2 points)
Also, what is the profit function? (3 points) '

Consider the following coordination game

Left Right
Top (2,2) (-1,-1)
Bottom | (-1,-1) (1,1
(a) What are the pure strategy equilibria of this game? (2 points)

(b) What are the subgame perfect equilibria 6f this game? (3 points)

Consider an industry with 2 firms, the marginal costs of each firm equal to zero. The (inverse)
demand curve facing in this industry is given:

P(Y)=10-Y, where the total output Y=yl+y2.
If firm 1 behaves as a follower and firm 2 behaves as a leader, calculate the Stackelberg

equilibrium output of each firm, i.e., yl and y2. (5 points) .
Clw,y) =y’ min(w, +w,, w; +w,), is a cost function.

(a) ‘What is the elasticity of scale and what kind of returns to scale does it indicate? Prove your
answer. (5 points)
(b) What is the elasticity of substitution between input 3 and input 4? What is elasticity of

substitution between the pair of inputs (1, 2) and the pair of inputs(3,4)? Explain your
reasoning. (5 points)




